EAGRAROBREERT — 2 N— ABISH —F

2020113308 (A) 7mEKR2H

IR C 2 A o R—f% ‘ (XM&] W ‘ (R — | 4 (5) 14000 &
[AE4£] 1% :250,000 ™ ~ 23#%&:70,000 33 :40,000” . 43&:25000MH . 5 73#&:15,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
et mrE : -5-4- - RELLIEE] (E%F)
118lg| 771714772 i3 540 1'(3_1)'2 SIS 40 2 3_25) B
RH I T o BREYY M ATTIATF4T M s
2 i o6 | AIPE 1:31.2 3-3-3-1 | 40.7| — 3 503 | EREHBAE (E&FH)
2 6| ZNV—7+—X 56.0 (2 E) (-3) |ABEET
R:HYIRT1 I B:5T>V [ e
5 # 3 | ERRL 1:31.4 6-6-5-4 | 40.3| — 7 445 | E<AREBRI (KR)
3lz|l7|HF7> 54.0 ) (+3) | RBEET
RIET7x47 B:75FFV11)— AL
+sB o 7ovrusy f3 | A D 7776 |[40.1| — | 5 <4+214) TREX R
L:IA42>75yva B:IN-0O-X AE=RFRT77—L
o . # 3 | HER 1:31.9 2-2-2-2 |41.6| — 1 443 | BHEHEZ (BKE)
5 3| bvar>y 54.0 21/2) (c13) | W) ESH - TU—g—x 224
LN—5—297 BHYLEX%Z 752 RS
. . 4 3 | #AHA 1:31.9 1-1-1-3 | #1.7| — 4 455 | MEERER= (E%FE)
6111 Ea7L—> 54.0 (NF) (0) AT K
L:wy)gdyr B:7L1Y FEX %Y K
S 1t 3 | BERA 1:32.7 4-4-6-7 |41.8| — 6 503 | EHIZ (KR)
7|55 7#IT7X * %c55.0 (5) (+9) | NBEA
R:d—IKRYy 7T B:3X5048F pelrie]
SO s o4 | BEB 1:33.4 9-8-8-8 |41.1| — 8 482 | fE<AREEI (KR)
8 4 YairHA 56.0 (4) 1) RIAE— ’
L:O0— KA+ a7 &:F-75 Y e
i i 4 | BERRE 1:37.8 8-9-9-9 |453| — 9 458 | HEEEH (ERFE)
9/8l9|7— N/ =T 54.0 (24 4%) (-p) |FRILE
LNnN—=VI7714 BIFXIWNYILR 24 N1 B
@ I—F—@EBIERL
|3=7r= 1,3,6,5,8,7,2,9,4
2ol=5"= 1,3,6,5,8,7,2,4,9
3T—7— 1,3,6,8,7,5,2,4,9
41—F— 6,3,1,7,8,2,5,4,9
0@ IR
B 8 450/ 794K 6-8 400MH & 6-8 1,550M &R 6-7-8 5,120
# B 8 1909 7-8 1,120 B E 6-8 1,260M EE 8-6-7 20,550
6 190 6-7 1,090H B H 8-6 2,420M
7 550

ARICOVWTRDTEEERROODE. TR LI,




